Supplementary Material 1. The curves of apparent resistivity and phase of impedance for all the
measuring stations
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Supplementary Material 2. Apparent resistivity and phase fitting between observed and calculated data
generated from 3D inversion for MT data from all MT stations. The blue solid line depicts observed field
data, the green circles depict resampled data at the ten frequencies chosen, and the red solid line depicts
calculated data.



200

100

L
o

-100}

-200

10

< 10

10

200

100

Oy
o

-100

-200

MT-01

Obs (EDI) +|[——0vs ED)
o Obs == 101 o Obs
Calc Calc
10° frs
1072 10° 10° 10 10° 107
Period (s) Period (s)
200 : ,
Obs (EDI)
O Obs
100} Calc
: I
— Obs (EDI) 00
o Obs f
Calc
: — 200 : .
1072 10° 10° 102 10° 10”
Period (s) Period (s)
Obs (EDI) .|[—— obs (D))
o Obs 10 O Obs
Calc Calc
— 2
7@’( > 10 %&
Eg ; 100 J \
102 10° 10 102 10° 10”
Period (s) Period (s)
200 : ;
—— Obs (EDI)
O Obs
100} Calc
M’/
_ JES
Obs (EDI) -100
© Obs oS
Calc
= - - 200 - - >
10 10 10 10 10 10
Period (s) Period (s)



200

100

by
o

-100}

-200

10

< 10

10

200

100

Oy
o

-100

-200

MT-03

O Obs
Calc

Obs (EDI)

O Obs
Calc

Obs (EDI)

10 10° 10 102 10° 10°
Period (s) Period (s)
200 - -
Obs (EDI)
O Obs
: 100t Calc
o-e—e—0—o0-o g - ;
i Z 0
—Obs (EDI)] )
O Obs 10 P
Calc
. - -200 .
10 10° 10 102 10° 10°
Period (s) Period (s)
—— Obs (EDI) 4 || = Obs (EDI)
O Obs 10 O Obs
Calc Calc
2
= 210
N@’ o &‘m
10
10” 10° 10 107 10° 10°
Period (s) Period (s)
200 v
Obs (EDI)
O Obs
100f Calc
T te-g o
< 0
Obs (EDI) 160
© Obs TTe—e—e—0— 0=t
Calc
= = -200 2 0 2
10 10 10 10 10 10
Period (s) Period (s)



MT-07

— Obs (EDI) — Obs (EDI)
4 4
10 o Obs 10 o Obs
Calc Calc
2 x 2
F 10 f/ 10
- ce—o—omo==S>eg -
10° 10°
107 10° 10° 102 10° 10°
Period (s) Period (s)
200 200 ,
Obs (EDI)
100 7 100} _° 8;3‘0
. m%_/ 8
_e_x O " _e_>‘ O
-100} Obs (EDY) -100
O Obs ===
Calc
200 ' : 200
10° 10° 10° 10” 10° 10°
Period (s) Period (s)
—— Obs (EDI) — Obs (EDI)
4 4
10 O Obs 10 O Obs
Calc Calc
2 / 2
& 10 o 10 -
10° s 10°
107 10° 10° 107 10° 10
Period (s) Period (s)
200 200 y :
Obs (EDI)
O Obs
100 100} Calc
W/
< 0 = 0
100 Obs (EDI) -100 -
O Obs
Calc
-200 = = 52 -200 2 :o 2
10 10 10 10 10 10
Period (s) Period (s)




200

100

by
o

-100}

-200

10

Z 10

10°

200

100

L
o

-100

MT-09

-200

Period (s)

Obs (EDI) . — Obs (EDI)
o Obs 10 o Obs
Calc Calc
& 107 frrs
10° b
10° 10° 10° 107 10° 10°
Period (s) Period (s)
200 : :
Obs (EDI)
O Obs
108y Calc
—Obs (ED))| P .
O Obs
Calc
: ' % 200 : :
10° 10° 10° 107 10° 10°
Period (s) Period (s)
Obs (EDI) ; i Obs (EDI)
o Obs 10 o Obs
Calc Calc
: E = 2
: - 10° -
107 10° 10° 107 10° 10°
Period (s) Period (s)
200 :
Obs (EDI)
i : » o Obs i
= i' . i” B L Calc
Obs (EDI) ey
© Obs
Calc
: 200 :
107 10° 10° 107 10° 10°

Period (s)



200

100

by
o

-100}

-200

10°

200

100

L
o

-100

-200

MT-11

Obs (EDI) 4 Obs (EDI)
O Obs 101 o obs
Calc Calc

10°
10° 10° 10° 107 10° 10°
Period (s) Period (s)
200 : :
Obs (EDI)
O Obs
: 100 Calc
———\. _ ;
= , S0
—oObsEDN| ook
Calc
: ' 200 :
10° 10° 10° 107 10° 10°
Period (s) Period (s)
Obs (EDI) ; i Obs (EDI)
o Obs 10 o Obs
Calc : Calc
10° -
107 10° 10° 107 10° 10°
Period (s) Period (s)
200 :
Obs (EDI)
2 o Obs Y
o B 180 Calc
S R S0
Obs (EDI) it -
O Obs
Calc
: 200 :
107 10° 10° 107 10° 10°

Period (s) Period (s)



MT-13

Obs (EDI) Obs (EDI)
4 4
10 o Obs 10 o Obs
Calc Calc
> 2
& 10
10° 10°
10° 10° 10 107 10° 10°
Period (s) Period (s)
200 200 : :
Obs (EDI)
100 100} © Obs
Calc
S0 & 0
— Obs (EDI) o
100} 100
o Obs 7 <
Calc m
200 : ' % 200 :
10° 10° 10° 107 10° 10°
Period (s) Period (s)
Obs (EDI) ; Obs (EDI)
4 4 i
10 o Obs 10 o Obs
Calc Calc
> 2 x 2
= 10 S10° ¢
10° 10° poss
107 10° 10° 107 10° 10°
Period (s) Period (s)
200 200
Obs (EDI)
o
100 100 82;1
G? 0 - ﬁi 0
Obs (EDI)
-100 100 |
O Obs
Calc e
-200 : -200 :
107 10° 10° 107 10° 10°

Period (s)

Period (s)




200

b
o

-100

-200

200

100}

Ey
o

-100H

-200

MT-17

Obs (EDI) i
S o
Calc

107 10

Period (s)

10

200

100

—— Obs (EDI)
© Obs
Calc

= - : -200
10 10 10
Period (s)

MT-18

Obs (EDI) _ 7
o Obs
Calc

10° 10°
Period (s)

10

200

100

Py
o

——Obs(EDD|
0 Obs
Calc

> -200

10°
Period (s)

107 10

Obs (EDI)
N o
Calc

10°
Period (s)

10° 10

—— Obs (EDI)
o Obs
Calc

-100}-

Obs (EDI)
8 Dhs
Calc

10°
Period (s)

10° 10

Obs (EDI)
o Obs
Calc

10°
Period (s)



200

100

by
o

-100}

-200

10

< 10

10

200

100

Oy
o

-100

-200

MT-19

Obs (EDI) .
o Obs 10
Calc
o.§ 10°}
10
10 10° 10°
Period (s)
200
100}
H _e-§ 0
Obs (EDIi
O Obs :
Calc
' % -200
10 10° 10°
Period (s)
—— Obs (EDI) .
O Obs 10
Calc
" ,
/ & =
E=e=—o—n—o-%
10°
10” 10° 10
Period (s)
200
100}
Q,e—e-e*e _—
s S0
Obs (EDI) 100
O Obs
Calc
= = 2 -200
10 10 10
Period (s)

Obs (EDI)
O Obs
Calc

10°
Period (s)

10° 10

Obs (EDI)
O Obs
Calc

-100} -

107 10° 10°
Period (s)
—— Obs (EDI)
o Obs
Calc /
e-u-e-o-o—d/
107 10° 10
Period (s)
— Obs (EDI)
O Obs
Calc
S
‘em_/
107 10° 10°



10

< 10

by

10

200

100

-100}

-200

10

< 10

Oy

10

200

100

-100

-200

MT-22

Obs (EDI)
O Obs
Calc

10 10° 10°
Period (s)
200
100}
I
—Obs (ED)| -100
O Obs i
Calc
2 - . -200
10” 10° 10°
Period (s)
—— Obs (EDI) 4
O Obs 10
Calc
2
e o> 10
M—g—g%
10°
10” 10° 10°
Period (s)
200
100H
G=6—6—6—0—y, —
oo X
h=d
Obs (EDI) -100
O Obs
Calc
= —0 52 -200
10 10 10
Period (s)

Obs
O Obs

Calc

(EDI)

10° 10° 10°
Period (s)
— Obs (EDI)
O Obs
Calc
10” 10° 10°
Period (s)
—— Obs (EDI)
o Obs
Calc
”eﬁ-/
m
107 10° 10
Period (s)
— Obs (EDI)
O Obs
Calc
107 10° 10°

Period (s)



MT-25

. Obs (EDI) . Obs (EDI) /
10 o Obs 10 o Obs
Calc Calc
> 2 2
& 10 , 210
10° 10°
107 10° 10 10° 10° 10°
Period (s) Period (s)
200 200 : :
Obs (EDI)
100 100} © ©Obs
Calc
> - x
_e_x O _e_>‘ O
Obs (EDI)
100} 100
% Obs g-e=fag o o o
Calc ~N
200 ' 200 :
10° 10° 10 107 10° 10°
Period (s) Period (s)
Obs (EDI) ; Obs (EDI)
4 4 i
10 0 Obs 10 o Obs
Calc Calc
> 2 x 2
& 10 Z10°}
10° 10°}
107 10° 10 107 10° 10°
Period (s) Period (s)
200 200 :
Obs (EDI)
o H
100 100 g:li e
Obs (EDI)
-100 100} ;
0 Obs
Calc
200 : 200 : :
107 10° 10° 10° 10° 10°
Period (s) Period (s)



MT-27

Obs ED|V
104 O Obs ( ) 104
Calc
> 2 ] 2
< 10 : o
° | 10°
10_2 100 102
Period (s)
200 .
100 o
ei 0 e§ i
— Obs (EDI)
-100¢}
O Obs
Calc
-200 - i o
10_2 'lO0 102
Period (s)
—— Obs (EDI
o © Obs =2 ] 10*
Calc
< 10 // 210
10° g
10‘2 100 102
Period (s)
> 200
100 o
3 e | =
&5 0 5=3:; ; -
-100 Obs (EDI) .
o Obs
Calc
- = V 0 2 -200
1o 10 10
Period (s)

-100}-

Obs (EDI)
O Obs
Calc

10°
Period (s)

10°

10

Obs (EDI)
O Obs

Calc

10°
Period (s)

107

— Obs (EDI)

O Obs
Calc

_ %

102 10° -
Period (s)
— Obs (EDI)
O Obs
Calc
10-2 ‘IO0 102




200

100

by
o

-100}

-200

10°

200

100

L
o

-100

-200

MT-30

Obs (EDI) .
o Obs 10
Calc
10° 10° 10°
Period (s)
200
100}
& 0
—Obs (ED)| 100
O Obs :
Calc
: ' % 200
10° 10° 10°
Period (s)
Obs (EDI) ; i
o Obs 10
Calc
210
10°
107 10° 10°
Period (s)
200
100
Obs (EDI) ey
0 Obs
Calc
: 200
107 10° 10°
Period (s)

Obs (EDI)
O Obs
Calc

10°
Period (s)

10° 10

Obs (EDI)
O Obs
Calc

10°
Period (s)

107

Obs (
O Obs
Calc

EDI)

10°
Period (s)

107 10

Obs (EDI)
o Obs
Calc

10°
Period (s)

10° 10



10

<10

10

200

100

by
o

-100}

-200

10°

200

100

by
o

-100

-200

MT-33

O Obs
Calc

Obs (EDI)

O Obs
Calc

Obs (EDI)

10° 10° 10° 10” 10° 10°
Period (s) Period (s)
200 v .
Obs (EDI)
: | © Obs
: 100 Calc
o SE: e 00 |-
? =T—o=e—0—0—0—0=8=6-
Calc ~——
: ' : -200b——
10” 10° 10 102 10° 10
Period (s) Period (s)
Obs (EDI) f s Obs (EDI)
o Obs 16*H o Obs
Cale Calc
x 2
C}_}' 10 "
10° -
10” 10° 10° 102 10° 10?
Period (s) Period (s)
200 :
Obs (EDI)
o Obs :
e Calc T
_ & op
Obs (EDI) 100
O Obs
Calc
' -200 H
10° 10° 10° 107 10° 10°

Period (s)

Period (s)



Supplementary Material 3. The comparison between the observed and the calculated data in
terms of apparent resistivity and phase of impedance maps, as well as their RMS values for all
periods.
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